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6. Arrange the seven numbers 1 to 7 from left to right into a multi-digit number ( % > #) without
repeated (£ 4§ ) numbers. Starting from the second number, each number is a factor of the sum of
all the numbers to the left of it. Then this biggest value of multi-digit number is
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(1) 15x5=75 » 1x3=3 » 75-3=72

(2) 19x5=95 » 95-77=18 » 18+(5+1)=3 » 19-3=16

International Mathematics Contest (Taiwan) — &E(6 F4K)



2. Four cars 4, B, C and D are driving on the same road on the same day. Car A passes (i) car
B at 8:00. It passes car C at 9:20, and meets car D head-on (3% ) at 10:00. Car D meets car B
head-on at 10:30. It meets car C head-on at 11:00. So what time is it when car B passes car C?
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